= /\%3]5 —1 \ _L‘_I_A\ \\ Wivie _
%D/L%n%axn%a,g\ J% (%D_LITJ 13E IX) = 1 71A]=
Rk 2 34 H 29 B LA T
= AR T2 3% 4H 1H
# 17 k23 4H10H
i E
wOR
X 4y Y HAEMEEEK B E % FTHEE I PR
Ul 27, 061 13, 455 13, 606 49. 72%
N
S| 24, 466 11, 897 12, 569 48. 63%
il
#t 51, 527 25, 352 26, 175 49, 20%
BRI BIR I
153 % ofd: 10 110 130 14 150
BeEEER (%) 4. 11% 8. 33% 13.19% 19. 90% 22.54% 25. 36%
B Z| 160 17H 190 200 W07
= (%) 28. 00% 30.91% 36. 44% 38. 26% 49. 20%
A AT - REE BRI
R fEH K =
1 H e WFESL O TR [ B IR E NG | AT T 2
EFALST | ZEEICL | BoEICHL | BRlCx LT B
TRLIZbHD ﬁbt%@ RL-bo
5,527 7 2 101 0 110
B =
iR
X ) IR B3 75 % 2 Fofth | M R
S VAR vl 25, 352 24, 782 570 0 2. 25%
REZN BRI (BAZEBRAAIEA « -4 O IRF)
] 1 T
i H | 2285004y | 220F294y
B 22 32 (%) 15. 78% 100%




5 fRAHEFAFEE L OYE - FEOR]

=S Tl 5 K 4 AT g 5 Ik
= Sel i R

% K% B3 HAR—Zmo




